StarTechy

Hard-to-find made easy®

WaLIJI-Mount Rack with Built-in Shelf
-8
WALLSHELF8U

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usudrio - pt.startech.com

IT: Guida per 'uso - it.startech.com

For the latest information, technical specifications, and support for

this product, please visit www.StarTech.com/WALLSHELF8U.

Manual Revision: 08/22/2016


http://www.startech.com/WALLSHELF8U

Warning statements

Waarschuwingen

injury or property damage.

lgen:
lichamelij letsel of materiele schade ontstaan.

product fyou s u
THis itoroduct
Product can support th folowing welght. Up 0 34 3 (75153 Gnderstecnt het volgende gewicht: 34 3.
Never perate this product i parts are missng or damaged.
wall dirs he type of hardware
ury tmes the
Weight of the mounted equipment
The mourting 3
). contact om dit product aan de door u gebruikte wandstructuur te bevestigen,
Yourwall sructure, ontage.Instnucs voor i wandstructucr t geven.
Dichiarazioni di avvertenza Varningsmeddelanden
Assemblare setilatt
3 persone o propries person el egendom uppst
o rodott,In caso di o om
4 4 W foljande vikter: 34 kg,
prodotto & grado dl supportare | seguanti pes: 34 kg |
Non utiizzae Il rodotto n presenza i part mancantio danneggiate
a Tiantato kan skadarpd
plig Or
u
s b Kontakta en professonell
per la struttura muraria in uso. w
Avertissements Mensagens de aviso
i émen vousisquez ¢ s
e vous blessér o dendommager Féquipement e e Proura e cord
vousdipassez . 8
¢ Ce produt exceder e produt
peutsupporer de 3443, Pode suportar o seguine peso: 34 .
manquantes.
Jipement ¢ . vous o 5
pouvoir supp Restnutura de

S moins quare o1 e pods de fequipement monté.
mors o ac Q hardware de
spécifiques & votre structure de mur. 5 gen
Warnhinweise Advertencias de uso

derenfall: Verletzungen von 4 .
Personen ader Schaden an Eigentum fuhren. lesiones personales o dafios en la propiedad.

g Wenn dieTraglast
k cn had: | Dieses % excede
Prohue it for Tolgendes Gewicht geeanet: 4 g i capacidad s petianprocucie leion
0ss . wenn .
igentl , portant
Monterten Gerats hlten konnen i
N instlado
nétigen
d Fach de pared ‘para fy

Wand erteilen.

Instruction manual

instalar el soporte de

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings

Introduction

Product dimensions

Product diagram

Installation requirements

Package contents

w NN

Assemble the wall shelf

Mount the wall shelf

Technical support

Warranty information

0 0 N b

Instruction manual

StarTechy.0m

Hard-to-find made easy



Introduction

The WALLSHELF8U provides an easy and convenient way to mount your server and
network devices. The WALLSHELF8U also features a built-in shelf that you can use to
store equipment.

Product dimensions

Right-side view

Front view

- 457 mm (18in.) |
- 305mm (12in.) -
8 8 e

— —_—

90 mm (3.5in.)

fe—————— 465 mm (18.3in.)

483 mm(19in) — =

392mm

(154in.)

= 127 mm (5in.) fa—

{=—203 mm (8in.) —=]

Instruction manual

o | o

of 355 mm

(13.9in.)

i i

L—i 406 mm (16 in.) 4—‘

StarTechy.0m

Hard-to-find made easy



Product diagram

Back plate
Mounting hole

Adjustable
rail

o——— Adjustable rail

Left bracket———e
e———Right bracket

Mounting hole

Shelf bracket

Installation requirements
« Screwdriver

« Level

Installation requirements are subject to change. For the latest requirements, please
visit www.StarTech.com/WALLSHELF8U.

StarTechy

2 Hard-to-find made easy

Instruction manual


http://www.startech.com/WALLSHELF8U

Package contents

Right bracket Left bracket

Qty: One

10-32 x 3/8 screws
Qty: Sixteen

Adjustable rails

10-32 mounting screws | Mounting template : Wood screws
Qty: Twenty-four { Qty: One Qty: Six

Instruction manual
Qty: One

StarTechy.0m

3 Hard-to-find made easy

Instruction manual



Assemble the wall shelf

Tip! You can use the letters on the brackets to identify which bracket should be placed
on the left of the back plate and which bracket should be placed on the right. (figure 1)

Instruction manual

figure 1

Left bracket Right bracket

s

. Line up the three assembly holes on the left bracket (3) with the assembly holes on

the left side of the back plate (1).

. Insert three of the 10-32 mounting screws (7) through the holes on the left bracket

and into the back plate, and tighten the screws in place.

. Line up the three assembly holes on the right bracket (2) with the assembly holes

on the right side of the back plate.

. Insert three of the 10-32 mounting screws through the holes on the right bracket

and into the back plate, and tighten the screws in place. (figure 2)

figure 2

Left bracket
"~we——10-32 mounting screws
"

Right bracket
StarTechy.0m

4 Hard-to-find made easy



5. Place the shelf bracket (4) over the bottom edges of the left bracket, right bracket,
and back plate, making sure that the assembly holes line up. (figure 3)

figure 3

Shelf bracket

6. Insert four of the 10-32 x 3/8 screws (6) through the holes on the shelf bracket and
into the left and right brackets and back plate, and tighten them in place. (figure 4)

figure 4

Shelf bracket

&4

- 10-32 x 3/8 screw

StarTechy.0m

5 Hard-to-find made easy

Instruction manual



Note: The adjustable rails each feature three slots that you can use to extend or retract
the rails and attach them in the position that works best for your setup. (figure 5)

figure 5
S
0 g 5 5 a
s
Adjustable rail
@
Bracket ———e /o : o

® RC)|

7. Position the adjustable rails (5) against the left and right brackets, and insert three
or the 10-32 x 3/8 screws (6) through the slots on each of the adjustable rails and
into the installation holes on the left and right bracket. (figure 6)

Adjustable rail

StarTechy:0m

6 Hard-to-find made easy

Instruction manual



Mount the wall shelf

Warning! Before you mount the wall shelf, make sure that the mounting surface is
sturdy enough to support the weight of the WALLSHELF8U plus the weight of the
equipment that you intend to install into the rack.

The weight capacity of the WALLSHELF8U is 34 kg (75 Ib.).

. If you need to use the mounting template (8) provided, remove the adhesive
backing from the mounting template and adhere the template to the location on
the wall where you want to hang the WALLSHELF8U. (figure 7)

2. Wood screws are provided with the WALLSHELF8U, but the wood screws may not
be the appropriate mounting hardware for the type of wall you're using. Select
the mounting hardware that is appropriate for the material and condition of your
mounting surface.

3. Hold the wall shelf against the wall and insert the mounting hardware through the
four mounting holes in the WALLSHELF8U and screw them into the wall.

Warning! The WALLSHELF8U features four mounting holes and you must use all four of
the mounting holes when you attach the WALLSHELF8U to the wall.

figure 7 Level
Mounting template
v v
/® /®
[® ®|
/
DY = Mounting
° @/ RN hardware
S O 4
~
Instruction manual Sta rTeCh.,Om

7 Hard-to-find made easy



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a lifetime warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



